ato
DATAREX

NuacTpyKIns no cOOpke
HamnoJbHBIX IIKA(OB



ato
DATAREX

as—X 4 pcCs
O @ X4pcs

O T X16pcs
O @ x12pcs
F X8pcs

O ¥ X16pcs



ato
DATAREX

O ¥ X4pcs
D F X16pcs

O ® X12pcs

@% X 8 pcs

@%X:ﬂpcs

@) X 8 pcs

@ ® X8 pcs
© @ X8pcs



an

DATAREX

@%X]épcs
© @ X 4pcs
@@Mpcs
#® X 4 pcs

O F X 16 pcs
© @ X 4pcs
@ @ X 4 pcs
@ ® X8 pcs

@%X]épcs
© @ X 4pcs
@ @ X 4 pcs

& X 4 pcs

O F X 16 pcs
© @ X 4pcs
@ @ X 4 pcs
@ﬁXESpCS



ato
DATAREX

@ (O X8pcs
& X 8pcs
© @ X8pcs

O X 8 pcs
@ ® X8 pcs

© ® X8pcs

@ (0 X8pcs
& X 8pcs
© ® X8pcs

@ X 8 pcs
@ M X8 pcs

© @ X8pcs



an

DATAREX O oo

@ #® X8 pcs
© @ X8pcs

O @ X24pcs




@

J2

J1



ato
DATAREX

S

©® X4pcs

Howmep
JIETaJIN

HaszBanwue neranu

HoxKku

[11aii0a

Buut M5X10

Bunt 6.3X13

Buutr M6X10

["aiixa M8

Bunat M5X9

Buut M8X15

W o oo|lu| N|w| N

BuuT

S

@ ® a) o a a af

NHCTPYKLWA NO MOHTAMY OPTAHN3ATOPA

&> M6 Contact washer X4

mvh’“e Méx15 IMT X4

-

&> M6 Confact washer X6

i

b

““"“‘“@ Méx15 IMT X6

| N

DATAREX

Pa3mepbl wKada (LLxI)

Bbicota (U)

MocnepoBatenbHOCTb C60PKM

600X600

16, 20, 22

A-B-C1-D-E-I1-J1

600X600 26,32, 36, 42, 47 A-B-C1-D-G1-H-T1-T1
600X800 20,22 A-B-C2-D-E-14-J1

600X800 26,32, 36, 42, 47 A-B-C3-D-G2-H-14-J1

600X 1000 26,32, 36, 42, 47 A-B-C4-D-G5-H-12-]1

600X 1200 42,47 A-B-C2-D-F3-G5-H-I13-]1
800X800 26,32, 36, 42, 47 A-B-C3-D-G3-H-14-12-K
800X 1000 42,47 A-B-C4-D-F3-G4-H-12-]2-K
800X 1200 42,47 A-B-C2-D-F4-G4-H-13-]2-K




